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1. What are the maximum PCL settings for T-6 during normal
operations?

A. Half forward or back

B. Full forward or IDLE only
C. Full forward or back

D. Any setting as required

2. Torque readings above which percentage indicate a system
malfunction?

A. 100%
B. 101%
C.107%
D. 110%

3. What is the minimum operating fuel quantity for safe
operation in T-6?

A. 100 lbs per side
B. 110 lbs per side
C. 120 1bs per side
D. 130 lbs per side

4. What is the maximum acceptable altitude for icing
conditions?

A. 4,000 Feet
B. 5,000 Feet
C. 6,000 Feet
D. 7,000 Feet

5. What is the idle N1 range on the ground?
A. 60% to 61%
B. 61% to 67%
C. 60% to 67%
D. 50% to 67%
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6. What speed should T-6 pilots aim for during final
approach?

A. 80 knots
B. 90 knots
C. 100 knots
D. 110 knots

7. How far above the clouds must a pilot maintain minimum
cloud clearance for intentional spin entry?

A. 5,000 Feet
B. 6,000 Feet
C. 7,000 Feet
D. 8,000 Feet

8. In asymmetric clean configuration, what is the maximum
acceleration limit in Gs?

A. -0.5 to 4.0 Gs
B.-1.0 to 4.7 Gs
C.-2.0t0 5.0 Gs
D. 0 to 5.5 Gs

9. What are the acceleration limits for symmetric clean
configuration in Gs?

A. -3.0 to 6.0 Gs
.=-3.5to 7.0 Gs
-4.0 to 7.5 Gs
.=-2.5 10 5.0 Gs

o 0w

10. What is the transient maximum torque range?
A. 100% to 101%
B. 101% to 107%
C. 800 to 870%
D. 750 to 820%
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1. What are the maximum PCL settings for T-6 during normal
operations?

A. Half forward or back

B. Full forward or IDLE only
C. Full forward or back

D. Any setting as required

The maximum Power Control Lever (PCL) settings for the T-6 during normal operations
are limited to full forward or idle only. This is because in standard flight operations, the
T-6 is designed to operate with the PCL set either fully forward for maximum
performance or to the idle position for descent and reduced power situations.
Maintaining the PCL within these limits ensures optimal engine performance and
responsiveness, while also adhering to safety protocols and operational guidelines.
Operating the PCL beyond these specified limits, such as with "half forward or back" or
any arbitrary setting, can lead to suboptimal flight performance and potentially
compromise aircraft safety. The design of the aircraft emphasizes efficient use of throttle
settings that maximize engine efficiency and maintain acceptable power margins.

2. Torque readings above which percentage indicate a system
malfunction?

A. 100%
B. 101%
C.107%
D. 110%

In the context of T-6 operations, torque is an important parameter that indicates the
performance and health of the engine and associated systems. The acceptable operating
range of torque typically caps at a maximum value, and exceeding this limit signifies
potential issues that could compromise engine integrity or performance. The threshold
for indicating a system malfunction is set at a specific percentage above the normal
operating range. In this case, a torque reading above 107% signifies that there may be a
malfunction within the system. This percentage is determined based on operational
safety and engine specifications that ensure the aircraft remains within safe operational
limits while performing various maneuvers. Readings that exceed this threshold can
suggest mechanical failures, miscalculations in engine load, or other anomalies that
might lead to unsafe operating conditions. Monitoring torque ensures that pilots can
maintain performance integrity and adhere to safety protocols. Thus, recognizing 107%
as the cutoff for potential system malfunction is crucial for safe flight operations.
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3. What is the minimum operating fuel quantity for safe
operation in T-6?

A. 100 lbs per side
B. 110 lbs per side
C. 120 lbs per side
D. 130 lbs per side

The minimum operating fuel quantity for safe operation in the T-6 is 110 pounds per
side. This limit ensures that each side of the fuel system has adequate fuel to maintain
engine operation and to provide sufficient fuel for takeoff, landing, and any necessary
maneuvers. Having a minimum quantity helps to mitigate risks associated with fuel
starvation and ensures that there is enough reserve to account for fuel management
discrepancies, such as unequal fuel distribution between tanks. The requirement of 110
pounds also reflects considerations like the need for fuel flow consistency to the engine
and the importance of preventing unwanted engine failures that could arise from running
the fuel tanks too low. Additionally, this limit supports safe operations during extended
maneuvers or scenarios that may require rapid engine response.

4. What is the maximum acceptable altitude for icing
conditions?

A. 4,000 Feet
B. 5,000 Feet
C. 6,000 Feet
D. 7,000 Feet

The maximum acceptable altitude for icing conditions is set at 5,000 feet. This limit is
established based on the T-6’s operational guidelines, which recognize the risks
associated with ice accumulation on the aircraft. Icing can severely affect flight
performance by disrupting airflow over the wings and control surfaces, leading to
decreased lift, increased drag, and potential control issues. Operational safety dictates
that pilots must avoid flying in icing conditions, which are commonly found in clouds and
precipitation, particularly in temperatures at or near freezing. At altitudes above 5,000
feet, particularly in turbulent conditions where moisture is present, the risk of
encountering these icing conditions increases, along with the associated hazards. Thus,
the 5,000-foot limit serves as a guideline to maintain safe operation and ensure that
pilots are aware of the potentially dangerous conditions while flying the T-6. This safe
altitude limit is founded on the aircraft's performance characteristics and the typical
atmospheric conditions that can lead to icing. Operating above this threshold helps
minimize the likelihood of encountering conditions that could compromise the flight
safety and aircraft performance.
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5. What is the idle N1 range on the ground?
A. 60% to 61%
B. 61% to 67%
C. 60% to 67%
D. 50% to 67%

The idle N1 range on the ground for the T-6 aircraft is 60% to 61%. This specification is
crucial as it defines the acceptable RPM of the low-pressure compressor during idle
conditions while on the ground. Maintaining the N1 within this range ensures that the
engine is operating efficiently and safely, preventing potential engine complications and
ensuring the airframe and engine systems function together optimally. The N1
percentage is observed to monitor engine performance, particularly during pre-flight
checks and taxi operations, where engine parameters must be continuously verified to
ensure safety and aircraft readiness. Operating outside of the specified idle range can
lead to various issues, such as engine stalling or excessive wear, which can compromise
flight safety. This specific range allows pilots to effectively manage the aircraft's engine

performance while minimizing the risk of any operational anomalies during ground
operations.

6. What speed should T-6 pilots aim for during final
approach?

A. 80 knots
B. 90 knots
C. 100 knots
D. 110 knots

During the final approach in a T-6 aircraft, pilots should aim for a speed of approximately
100 knots. This speed is critical because it provides an optimal balance between
maintainable control and performance of the aircraft during landing. At 100 knots, the
T-6 is able to maintain a steady descent and respond appropriately to any necessary
adjustments, which is essential for achieving a safe landing. Flying too slowly could lead
to a stall, while speeds that are too high may cause difficulty in controlling the descent
rate and ultimately lead to overshooting the intended landing zone. Monitoring airspeed
at this stage is crucial in ensuring that the aircraft behaves predictably and that the pilot
has sufficient authority over the aircraft's controls while aligning for the runway. In
summary, aiming for 100 knots during the final approach allows for the best compromise
between safety, control, and readiness for landing maneuvers.
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7. How far above the clouds must a pilot maintain minimum
cloud clearance for intentional spin entry?

A. 5,000 Feet
B. 6,000 Feet
C. 7,000 Feet
D. 8,000 Feet

To maintain minimum cloud clearance for intentional spin entry, a pilot must ensure
they are at least 7,000 feet above the clouds. This altitude is crucial for safety, as it
provides a sufficient buffer to prevent inadvertent encounters with cloud formations
during a spin maneuver. Being above the clouds allows pilots to clearly assess their
surroundings and execute maneuvers safely, without the risk of losing visual reference or
control. Choosing 7,000 feet specifically aligns with aviation regulations and guidelines
that prioritize safety during potentially hazardous maneuvers such as spins. This altitude
ensures that pilots have adequate visibility and space to maneuver without encountering
cloud cover, thus reinforcing a structured approach to aerobatics and spin training.

8. In asymmetric clean configuration, what is the maximum
acceleration limit in Gs?

A. -0.5 to 4.0 Gs
B.-1.0t0 4.7 Gs
C.-2.0to0 5.0 Gs
D. 0 to 5.5 Gs

The maximum acceleration limit in Gs for an asymmetric clean configuration is indeed
-1.0 to 4.7 Gs. This range reflects the structural and aerodynamic limits of the aircraft
when it is in a configuration where the wings may not be producing equal lift, such as
when carrying external stores or during certain maneuvers. In this configuration, the
aircraft faces varying loads and stresses that can impact its performance and safety. The
lower limit of -1.0 Gs indicates that the aircraft can safely experience mild negative
G-forces, which are crucial during specific flight situations, like abrupt pull-ups or
recovery from dives. Meanwhile, the upper limit of 4.7 Gs shows the aircraft's capability
to withstand substantial positive G-forces, which are common during aggressive
maneuvering. This specific range has been defined in flight manuals and operational
limits to ensure that pilots understand the constraints on their aircraft's performance
under various scenarios, maintaining safety and structural integrity. The other options
provide wider or inappropriate limits that do not accurately align with the operational
limits specified for the aircraft configuration.
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9. What are the acceleration limits for symmetric clean
configuration in Gs?

A. -3.0 to 6.0 Gs
B. -3.5 to 7.0 Gs
C.-4.0to 7.5 Gs
D. -2.5 to 5.0 Gs

In the T-6 aircraft, the acceleration limits for symmetric clean configuration refer to the
range of G-forces that the aircraft can safely experience during various maneuvers
without risking structural damage. The correct answer indicates a limit of -3.5 to 7.0 Gs.
This range is crucial for pilots to understand as it defines the operational envelope of the
aircraft during maneuvers. Positive Gs (up to 7.0) allow for enhanced control and
performance during aerial operations, including pull-ups and turns. Negative Gs (down to
-3.5) are encountered in specific flight situations such as abrupt maneuvers where the
aircraft can experience rapid changes in altitude or direction. By adhering to this range,
pilots ensure they maintain the aircraft within its design parameters, maximizing both
safety and performance. Understanding these limits is vital for effective maneuvering, as
exceeding them can lead to loss of control or structural failure. Other choices suggest
limits that are either more extreme or less capable, which do not reflect the design
specifications and operational safety considerations established for the T-6 during
symmetric clean configurations.

10. What is the transient maximum torque range?
A. 100% to 101%
B. 101% to 107%
C. 800 to 870%
D. 750 to 820%

The transient maximum torque range is critical for understanding the operational limits
of the T-6 aircraft's engine during short-duration situations such as takeoff or when extra
power is needed. The correct range, which is from 101% to 107%, indicates the
permissible levels of torque that can be tolerated for brief periods without causing
damage or compromising the engine's integrity. This range allows operators to apply
higher torque temporarily to meet demanding flight conditions, such as quick climbs or
maneuvers that require additional power. Being aware of this limit helps pilots maintain
engine performance within safe parameters, ensuring both safety and operational
efficiency during critical phases of flight. The other ranges provided do not align with
the T-6 performance specifications for transient torque. Being aware of these limits aids
in preventing unnecessary wear and tear on the engine while ensuring maximum
performance when required.
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